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Subject Junior Engineer Electrical CNEO1 e‘

Section : Technical "
Q.1 Inthe circuit shown below, Vi =3V and Vi = 4V. What is the power factor of the circuit? (Consider current b

reference phasor.)

R
ifty—» Vi
Ans X1 1.0 e

X208 o

v 3 0.6 &

X402 §
Ob

Q.2 ©w NPN (CE Sifeheem) gifs
ERIE ‘
ans X 1. 200
X2 1
v

Question ID : 1499863530
Status : Answered
Chosen Option :

c = 50 mA 3R Iz = 505 mA §| umT wfey g # AT AT

0

Question ID : 1499863582
Status : Answered
Chosen Option :
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Q.3 frgge ity & J39aer (admittance) FT Y = (3+j4)
T 32

X 1. 4/25 0
V2 3/25 0
X340
X430

Ans

EENT g T I ¥ 3F ATy & geRy @ oA

Question ID : 1499863531
Status : Answered
Chosen Option :

IR ZAITET AT ¥ U HT rms AW AT RS
X13A
X210 A
X3 8A
vi5 A

Ans

Q4 o= 7z gy Iww F 10 0 9R°RY F T g e AC T & i() = 3+ 4 sin(wt) + 4sin (2wt) A

Question ID : 1499863529
Status : Answered
Chosen Option :

Ans . 20 AT

- 200 AT
- 1000 AT
- 55 AT

A
P

Q.5 Acoﬂ with 500 turns carries a current of 2 A. What

of the coil?

Ny

Question ID : 1499863521
Status : Answered
Chosen Option :

Q6  What are the t
< 1. Phase,
V2

Ans se. Phase

eutral, Ground
hase, Phase, Neutral
. Phase, Phase. Ground

giﬂ a single phase 3-pin plug?

Question ID : 1499863571
Status : Answered
Chosen Option :
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inductor at resonance?

- 10
- 100
- 20
- 50

Ans

Q.7 Aseries RLC circuit supplied by 220 V ac voltage has R= 10 Q, L = 10 mH and C = 1 pF. Find the quality factor of

Question ID : 1499863533
Status : Answered

Iy 1020°
Ll =1102-120°
Izl 1102+ 120°
Calculate the zero sequence current I
/< 1. twenty
< 2 fifty
< 3 ten

v 4 zero

Ans

Q.8 A 3-¢ Y connected balanced load has balanced currents with RYB sequence given by:

\
90
4
<

00

Question ID : 1499863568
Status : Answered
Chosen Option :

o7

Q.9 Anac voltage source of 250 V (rms) supplies active power o

A
?&

of current (rms) drawn by the source.
X1 10A

X26A

- 2A

-4 A

Ans

active power of 400 VAR. Find the value

Question ID : 1499863525
Status : Answered
Chosen Option :

Q.10
Ans

Ina 3-

St
(1-s)f

p
p

otor, the frequency of rotor emf at standstill is equal to (s = slip, f= stator supply frequency):

Question ID : 1499863554
Status : Answered
Chosen Option :
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QM Which of the following statements is true for a 1 - ¢ transformer?

Ans x1.

Emf induced per turn in the primary winding is less than the emf induced per turn in the secondary winding.

X2

Emf induced per turn in the primary winding is twice the emf induced per turn in the secondary winding.

v 3

Emf induced per turn in the primary winding is equal to the emf induced per turn in the secondary winding.

F

Emf induced per turn in the primary winding is greater than emf induced per turn in the secondary winding.

Question ID : 1499863557
Status : Answere
Chosen Option :

Q.12 The average demand and maximum demand from load curve characteristics of the load connected to utility systems are E

30 and 60. Determine the load factor.
Ans x 1. 0.7 0
v 2 05
X308 o
X402 o

Question ID : 1499863560
Status : Answered
Chosen Option :

Q.13 The output power of a NPN transistor (CE configuration) is 300 mW. or current is 30 mA, then the

maximum collector to emitter voltage (V) is:

Ans X150V
V210V

X3 1V 0
X4 100V &
e Question ID : 1499863581

‘ Status : Answered
Chosen Option :

Q.14 Two resistors of 6 €2 are connected in series and supplied by 50 V dc. What is the voltage across 6 Q2 resistor?
Ans x 1.
20V
- 10V
v 30V

Question ID : 1499863511
Status : Answered
Chosen Option :
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Q.15 The current drawn by a de series motor is increased from 10 A to 12 A, What is the percentage increase in torque?

(Neglect saturation.)

Ans x1. 30

X2 64
v 3 44
Xa 2

=]

Question ID : 1499863546
Status : Answered
Chosen Option :

current of the relay?

Ans X1 2 A e‘

X2 10A

Vi3 15A

X4 4A

stion ID : 1499863564

Q Status : Not Answered

hosen Option : --

e directly below the

Q.16 The rating of a current transformer is 500/10 A and the current setting is given as 150. What is the value of the pickup \

Q.17 A light source of 900 candelas is situated 3 m above a working surface. Calculate the i

source.
Ans o 1. 100 lumens o
/< 2. 200 lumens &
/< 3. 50 lumens
/< 4500 lumens
Question ID : 1499863572
& Status : Answered
Chosen Option :

ob‘led for a 10 kKVA, 200/1000 V. 50 Hz, 1- ¢ transformer.

Q.18 The following data w

ltage side open circuited) — 200V, 1.2 A, 120 W,

the core-loss component of the current.

Question ID : 1499863556
Status : Answered
Chosen Option :
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Q19 An under excited synchronous motor is operating at:
Ans X 1. unity power factor

/< 2. leading power factor
« 5. lagging power factor

/< 4. zero power factor

Question ID : 1499863555

Status : Answered

Chosen Option :

Q20 The |ocation of ground faults in underground cables can be found by:

\ 4

Ans X 1. Megger
« 2. Murray loop test e
/< 3. Electro-dynamometer 0
< 4 Ohm-meter o
6 Question ID : 1499863539
Status : Answered
Chosen Option :
Q.21 A generating station has a connected load of 43 MW and a maxinmm demand of late the demand factor.
Ans 1. 0.11 &
X2 1.0
X3 0.82
v 4 046

O

Question ID : 1499863570

Status : Answered

Chosen Option :

&

Q.22 In the circuit shown below, if t si‘; Q across the terminals (A — B) is disconnected, then find the voltage (Vap).

Ans

00V

- Zero
K350V
X4 150V

Question ID : 1499863513

Status : Answered

Chosen Option :
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Q23 1n arc welding, the establishment of arc is produced by:
Ans 1. thermal energy
« 2 electrical energy

/< 3. mechanical energy

/< 4. chemical energy

Question ID : 1499863575
Status : Answered
Chosen Option : 2

Q.24 Ina3 - ¢, delta/star connected transformer, the ratio of phase voltages (primary to secondary) is 3 : 1. Find the ratio of

their line voltages. ‘
Ans X' 1.1:2 e
V2 V31

X33:1 0

K4 3:2

Question ID : 1499863558
Status : Answered
Chosen Option : 2

g in the conductor at t

Q.25 The charge (q) flowing in a conductor is q = (31"2 —5t) mC (t = time). Calculate th
= 3 seconds?

Ans o 1. [3mA

X 2 10 mA

X3 6.5mA

X 4 26 mA

Question ID : 1499863510
Status : Not Answered
Chosen Option : --

Q.26 What is the pres voltage level for resistance or reactance grounding?
Ans x 1, =

X2 — 66 kV

: 33kV

- 3.3kV-33kV

Question ID : 1499863573
Status : Answered
Chosen Option : 4
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Q27 For a given conductor, if the cross-sectional area increases, then:

Ans X 1. resistance of the conductor increases
« 2. resistance of the conductor decreases
/< 3. current rating of the conductor decreases

/< 4. resistance of the conductor does not change

Question ID : 1499863561
Status : Answered
Chosen Option : 2

Q.28 The relay used for protection of an oil immersed transformer against all internal faults is:

Ans  of 1. Buchholz relay |a ‘
/< 2. Mho relay a
/< 3. Admittance relay

/< 4. Impedance relay

Question ID : 1499863562
Status : Answered
Chosen Option : 1

Q.29 Which of the following generating stations does NOT require rate electricity?

Ans 1. Diesel power plant

7< 2. Thermal power plant
#< 3. Nuclear power plant
« 4 Hydro-electric power

& Question ID : 1499863569
Status : Answered
Chosen Option : 4
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Q30 What is the value of the current flowing in 3 Q resistor?

0 S0
1
00 10A in
Ans X1 10A
N21A
X3 T7A

i 4A

®

Question ID : 1 4
Statu n ed
Chosen Opti

Q.31 A permanent magnet moving coil ammeter having internal resistance of 0.8 © has full scale division of (0-10)
value of resistor should be added to increase its range to (0-30) A?

< 1.0.2 Q in series with the metre
/< 2. 0.04 © in series with the metre
« 3. 0.2 Q in parallel with the metre

Ans

o

< 4. 0.04 Q in parallel with the metre

<

¢

xO

Question ID : 1499863535
Status : Answered
Chosen Option : 4

Q.32 The characteristic curve (speed

X

Taorgue {MN=-m)

Ans

/< 3. cranes and hoists load
« 4 fan load

) shown below is exhibited by:

Question ID : 1499863578
Status : Answered
Chosen Option : 3
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Q.33 The X and Y plates of a cathode ray oscilloscope are provided with sinusoidal inputs of equal amplitude and frequency

which are 90° out of phase. The resulting Lissajous pattern will be a:

Ans  of 1. circle
/< 2. parabola
/< 3. horizontal straight line

/< 4. vertical straight line

Question ID : 1499863538
Status : Answered
Chosen Option : 4

Q.34 From the following phasor diagram identify the sequence component vectors.

Vu Direction of rotation “

Ans X 1. Zero sequence

« 2. Positive sequence
/< 3. Negative sequence
/< 4. Oscillating

Question ID : 1499863566
Status : Answered
Chosen Option : 1

Q.35 The primary and secondary voltages o; transformer are 200 V and 120 V respectively. It supplies a load of 15
kW at unity power factor. Calculate tl

Ans  of 1. 9 kW 'S
X215k
X3
X4

ansferred to the load by conduction.

Question ID : 1499863549
Status : Not Answered
Chosen Option : --
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Q.36 Intwo wattmeter methods of measuring power in a 3 - ¢, 3 - wire system supplying balanced load, if W; =2W),. then

what is the power factor of the load?
Ans X 1. >
X215
V'3 32
X405

Question ID : 1499863540
Status : Answered
Chosen Option : 1

Q.37 Adc shunt generator has core loss of 100 W and armature resistance of 0.25 Q. What is the load current corresponding
to maximum efficiency? Assume armature current (I,) = Load current (I ).

Ans X 1. 30 A e‘
v22A e
X3 40A 0
X4 10A
o uestion ID : 1499863545
Status : Answered

Chosen Option : 2

Q.38 In a moving iron ammeter. the deflection() of the pointer i rtional to the:

Ans o 1. square of the operating current

/< 2. square root of the operating curl &
/< 3. cube of the operating curreb
/< 4. operating current 0
& Question ID : 1499863541
Status : Answered
Chosen Option : 1

Q.39 What js the valu ck emf in a dc shunt motor at the instant of starting?
Ans “ 1. 45
~ 2 o the input voltage

alf of the input voltage
- Double the input voltage

Question ID : 1499863543
Status : Answered
Chosen Option : 2
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Q40 conpsider the circuit shown below:.

WWW—
Ry
If the switch is in the ON position the diode:
Ans  of 1. is forward biased ’\o
& 2. remains idle A

/< 3. is reverse biased

X 4. is saturated e

@ 1 1499863583
Status : Answered
Option : 3

Q41 Which of the following materials is a diamagnetic

Ans  of 1. Copper e
/< 2. Tungsten

Xe o b*"

Question ID : 1499863520
Status : Answered
Chosen Option : 1

Q.42 The Synchronous speed 3 - @ induction motor is directly proportional to

(f= stator supply &
Ans X1 U
X 2
v
&

Question ID : 1499863551
Status : Answered
Chosen Option : 3

wepsite stu success.in
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Q43 vz Furfts & e @ F A9 ¥ R B % ¥ R B @ swa B s
Ans x 1. }haﬂ_ ﬁa_

X 2 wsrEe B

v o AT o

X4 Hemae B

Question ID : 1499863536
Status : Answered
Chosen Option : 3

Q44 Which property of the oil helps to break the current in an oil circuit breaker?

Ans X 1. Induction e
/< 2. Radiation e
+ 3 Insulation 0
/< 4. Conduction

Question ID : 1499863565

Status : Answered
Chosen Option : 3

Q45 A 3., 8 pole 50 Hz induction motor runs at 60
Ans x 1. 0.8
X2 1 ‘
V'3 02
X4 10

&0 Question ID : 1499863550

Status : Answered

Q Chosen Option : 3

e‘cti{m ina 3 - ¢ alternator, when the load power factor is unity?

Q.46 What is the effect of a

gnetising and demagnetising

Question ID : 1499863547
Status : Answered
Chosen Option : 3
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Q.47 Asolenoid of 50 ¢m is wound on a brass tube. If the current through the coil is 1 A, then calculate the number of turns
necessary over the solenoid to produce field strength of 400 AT/m at the centre of the coil.

Ans  of 1. 200

X 2100

X 3. 600

X 4500

Question ID : 1499863522
Status : Not Answered
Chosen Option : --

Q.48 A 250V lamp has a luminous flux of 1500 lumens and takes current of 0.4 A. Calculate lumens per watt. \
Ans x 1. 5§

_ L 4
Ko ,’9

X4l

tion ID : 1499863576
Status : Not Answered

Q49 Why is copper the material of choice for undergr

Ans  of 1. Low resistance o

/< 2. Low frequency &

/< 3. High resistance

< 4 Low bandwidth b

Question ID : 1499863567
Status : Answered
Chosen Option : 1
Q.50 Two alternating quantities operating at me frequency are given by V(1) = 10sin(et) and Va(t) = 10sin(wt+45°).
‘What is the phase differen en them with respect to Vq(t)?

Ans X 1. 15°

Question ID : 1499863527
Status : Answered
Chosen Option : 2
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Q.51 In the expression e = L(di/dt) (where e = emf of a coil, i = current through the coil, t = time) L represents:
Ans  of 1. self-inductance
< 2. conductance
/< 3. capacitance
X 4 resistance
Question ID : 1499863519
Status : Answered
Chosen Option : 1
Q52 N "
Find the current I flowing towards the node (N) in the circuit shown below. ‘
24
3A
1A e
I 4A 0
S5A
ans X115 A o
X2 1A
V3 5A e
X4 10A o
& Question ID : 1499863515
Status : Answered
Chosen Option : 3
Q.53 A4 pole de shunt generator running at 500 rpm has a si wound armature containing 48 coils of 6 turns each.
The flux produced per pole is 0.02 Wb. Calculate f in the armature.
Ans  of 1. 102V
X2 384V e
X306V ¢
X4 48V
Question ID : 1499863542
Status : Answered
Chosen Option : 1

IS webpsite studyiosuccess.in
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Q.54 Two 15 MVA, 3 - ¢ alternators are operating in parallel to supply a load of 25 MVA at 0.8 power factor lagging. If the
output of alternator — 1 is 18 MVA at 0.9 power factor lagging, then what is the output of alternator — 27

Ans 31 15 MW

< 2 20 MW
Vs 3.8 MW
X 4 10 MW
Question ID : 1499863548
Status : Not Answered
Chosen Option : --
Q.55 In the circuit shown below, Ryg =3 Q. Rpe=6 Q and Ry =9 Q are connected in delta. Find the star equivalent of the
delta connected resistors (R, Rpg and R¢)?

, 90
A AL C A c
Ry Re
Ry
B <
As f1150.10.30 o
X23060,450

K3306090 o

X420Q40,8Q
o Question ID : 1499863532
Status : Answered
Chosen Option : 1

Q56 Find the maximum power transf; o the load resistance (Ry ).

Question ID : 1499863516
Status : Answered
Chosen Option : 2

https://cdn3.digialm.com//per/g21/pub/1891/tauchstona/AssessmentQPHTMLMode1//48910205/18910205S10D69/15827846862924642/19CNEO01...
P 9 perig=tip VISt Bite L2 :

IS webpsite studyiosuccess.in

16/57



2o Telegram More Updats. Motes Al RISYIRHR MR RIFU AN PERSE RERNIST:,

QS Srrmifea fow & we2fie sfiresot & ey ¥ vor #F 9w it
(X 38T Vp (3 dreesn);

Y 387 [p (37 Fega-um); Vg = 9T deds)

s Ve-ov
.g Saturaton
g -2V
. . . ./.;.v ivv. ’\o
0 2 Il vosm ] 10
Ans - 1. ‘
# 1 PN smarE

¥+ o8 &2
X4 BJT o

Question ID : 1499863579
Status : Not Answered
Chosen Option : --

Q.58 What is the value of form factor for alternating voltage or ¢ varying sinusoidally?
Ans X 1.0.5 o
V2 111
X3 1.414
X 4. 0.866

Question ID : 1499863528
Status : Answered
Chosen Option : 2

Q.59 The process of
Ans x1 ele

X2

deposition of metal upon metallic surfaces is called:

lectroplating
. electric welding

Question ID : 1499863577
Status : Answered
Chosen Option : 3
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Q.60 To measure the current in a 1-¢ transmission line, primary winding of current transformer is connected in:

Ans

« 1. series with the line carrying current
/< 2. parallel to the load
/< 3. parallel with the line carrying current

/< 4. parallel to the source

Question ID : 1499863537
Status : Answered
Chosen Option : 1

Q.61 A circuit consists of four resistors (5 ©, 10 ©, 20 ©, 30 Q) connected in parallel and supplied by a de source of 100 V.
Which resistor among the four in the above circuit has least value of current?

Ans  of 1300 e‘
X250 e
X3 100 0
X420
oeestion ID : 1499863517
Status : Answered

Chosen Option : 1

Q.62 1n an electrical heating process. the high frequency capacitive he also known as:
Ans 1. infrared heating o

« 2 dielectric heating &

/< 3. induction heating

/< 4. resistance heating :

Question ID : 1499863574
Status : Answered
e Chosen Option : 2

rictional force

amping force

Question ID : 1499863534
Status : Answered
Chosen Option : 4
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Q.64 The stator of 3 - ¢, 16 pole alternator has a star connected winding with 144 slots and 10 conductors per slot. Find the
pitch factor when the winding is short pitched by 3 slots.

Ans x 1.1
K305
X 4 1.64
Question ID : 1499863552
Status : Not Answered

Chosen Option : --

Q.65 What is the relation between resistance (R and R;) of two bulbs rated for the same voltage and having powers of 400
W and 100 W respectively?

Ans 54 Ry =4R,
v 2 Ry=4Ry
X 3 Ry=2R,
X 4 Ry=2R,

60
0’9

¢

6 Question ID : 1499863512

Status : Answered

Chosen Option : 2

Q.66 T a 4-pole dc machine, a coil span of 120 electr

8‘

grees is equal to:

240 mechanical degrees
v &)
<3
X 4

60 mechanical degrees

180 mechanical degrees

120 mechanical d

&

¢

Question ID : 1499863544

Status : Answered

Chosen Option : 2

Q.67 The power of

v a2l

gnetism even after the removal of the magnetising force is called:
Ans il'}-’
ellctance
- Inductance

/< 4. relativity

Question ID :

1499863523
Status : Answered

Chosen Option : 1

LMo
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Q68 What is the unit for American Wire Gauge (AWG) conductors?

Ans X" 1. Watts
< 2. Volts
+ 3. Thousand circular mil (MCM)

/< 4. Amperes

Question ID : 1499863559
Status : Answered
Chosen Option : 3

Q.69 The necessary phase difference between the main current and the auxiliary current in a 1 - ¢ capacitor start capacitor run
induction motor is produced by:

Ans o 1. connecting a capacitor in series with starting winding e‘
/< 2. connecting a capacitor in parallel with starting winding e
/< 3. connecting a resistor in series with starting winding 0

/< 4. connecting an inductor in parallel with starting windin

o Question ID : 1499863553

Status : Answered
Chosen Option : 2

Q.70 gfage=ar (resistivity) T EI% é‘o

A 1 30 #eT (Q-m)
X 2 ofEgT (A) b*
X 3 aree (V)
X 4. T (C) \'

Status : Answered
Chosen Option : 1

/< 4. magnetic effect

Question ID : 1499863563
Status : Answered
Chosen Option : 3
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Q72 The name Bipolar in BJT signifies:

X

current flow is due to transport of only electrons but not holes

X 2

current flow is due to transport of neither holes nor electrons

p 3

current flow is due to transport of only holes but not electrons

Ans

« 4 current flow is due to transport of both electrons and holes

Chosen Option : 4

Question ID : 1499863

Status : Answered

L 4

Q.73 Two equal resistors are first connected in series and then in parallel across a de supply. What is the ratio (series circuit to

parallel circuit) of total heat dissipated by the resistors for the two cases at a given time?

(Assume that the current from the de source is same in both cases.)
K12:3
K212
Vs o4:1
K43:2

Ans

00

<

Question ID : 1499863518

Status : Answered

Chosen Option : 3

Q.74 A s yF pure capacitor carries a current of 5 A when a si is applied. What is the average power

dissipated by the capacitor over one cycle of ac supply?
X1 25W
X2 50W

- Zero

- 5W

Ans

Question ID : 1499863524

Status : Answered

Chosen Option : 3

it is supplied by ac voltage of 50 V (rms). What is the value of the current (rms) supplied by the

nance?
e (R) = 10 Q. inductance (L) = 10 mH and capacitance (C) = 10 uF.)
- 15 A

- 5A

- 10A

- 20A

Question ID : 1499863526

Status : Answered

Chosen Option : 2
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Section : General Awareness

Q1 e ayTe HERTS Yvrsid Rig &1 43 &9 412
Ans X 1. HERIST WEl Rig

7< 2. weRmS IR Rig

75 3. TR TR Rig

o 4. TR Tefiu Rig

Question ID : 1499863585
Status : Not Answered
Chosen Option : --

Q.2 YRA & APURT GRT IEHHT & fFa- Hewl P 110 fowan o1 9 32
Ans X" 1 11

K 2.10

W 312

X 4.13

90
0’9

| o
K 4&

eestion ID : 1499863590
Status : Answered
Chosen Option : 3
Q.3 YRd WSR gRT AP RAfFET STANT & Uge TqE & = # frd T 37
Ans  of 1 greTOs Q1 < Tl

X 4. U S FHR b

Question ID : 1499863597
Status : Not Answered
Chosen Option : --

Q.4 fHaq =M F wY, yfey S e vt 2
Ans x1.2

o 21

X33

<

Question ID : 1499863589
Status : Answered
Chosen Option : 1
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Q.5 g ad #, HRd A Wisa & 1Y SI6R" gAgd R g&er fee?
Ans X" 1 1984

of 2. 1986
75 3.1980
/X 4.1987

Question ID : 1499863592
Status : Answered
Chosen Option : 2

Q.6 g 3w A qait feaw =TT Sirdn 82
Ans x 1. 3ffeferar

75 2. T spier

25 3.\

o 4 Toids

Q.7 1975 ¥, 7S # Mo ygan frdre fay U fraa siar?
Ans X 1.9TdS e
7< 2. sifeefer

W 3 3e

75 4. i &
b Question ID : 1499863595

Status : Answered
Chosen Option : 3

RSP Sltar
Ans x 1. 9IS B ‘
X 2. S
of 3. 3
X 4

Qs Wmﬁmm%é # 669 W fredt R A wEAg fHAar 31
?

Question ID : 1499863596
Status : Answered
Chosen Option : 3
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Q.9 TeRTSE § HHY 9 T 2?2

W 1.ouT2

X 2.GMT+3

K 3.GMT+1

X 4.GMT+2:30

Ans

Question ID : 1499863588
Status : Not Answered

Q.10 Si$ 74T, fora wygs & 3ruars gl 872
Ans X" 1 T AR

5 2. HTAT AR

X 3.9 9TR

o 4 gaEmR

Chosen Option : --

\ 4

9

ID : 1499863587
Status : Not Answered
en Option : --

Q.11 FAHTHT S UgS I B A?
Ans X 1. TH. T, 3R
25 2. Fem ot ¥g
o 3. O AT ATARY
X 4. 96CR g Rig

Q.12 I FYTE *HBaR BT gdadt C
Ans X 1. 3OS
< 2. SBhR L 2
25 3. Mm@
v 4 T

Question ID : 1499863591
Status : Answered
Chosen Option : 3

Question ID : 1499863584
Status : Answered
Chosen Option : 4
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Q.13 2 Sast 2020 Ft, TR TR W A fra DRDO yaRT=TarsH #1 Igutes fFar g2
Ans x 1.2

25

X 36

K 41

Question ID : 1499863598
Status : Not Answered
Chosen Option : --

Q14 frw 9§ &, USA TP @A 3R T2 o, 6
Ans  of 11776 ‘

#< 2.1780 L 4

7 3.1775

/< 4.1778 e
ID : 1499863586

Status : Answered
en Option : 3

Q.15 1 T 2020 & T YR A AT g 3R ULTHFA g W GST fara=n

Ans  of 1 0% e
K 2.12%
7< 3.18% &o
X 4.5%
b Question ID : 1499863593
Status : Answered

Chosen Option : 4

Section : Quantitative Aptitude

Q1 Zfr sinA = 4/5 and SB‘ES & O sinAcosB - sinBcosA T AT AT HIfarT|
Ans x 1.3

<22

v

Question ID : 1499863611
Status : Answered
Chosen Option : 3
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Q2 e v 78 F 36 R # W F T §, T Taar 3w F 24 BE F 9w v ¥ oR
#aﬁ;ﬁmmﬁmmmﬁﬁwmmg T & 9 @ o g1 e, ofew @ See

sferma 4w Fga 87
Ans ( 1. 50%
X 2 40%
< 3 30%
X 4 20%
Question ID : 1499863607
Status : Answered
Chosen Option : 2
Q3 o 7 gew 184 9y de & @R RO/F F qeT 139 9T Fex ¥ 3l 57 = F fHwor #2090 9 ‘
#ex T W FTF T 20% F A G g, o HH F vge A FRE F s A S
Ans X4 A - e

3
X21:1 0
X34 o0 o
vi1:4
Question ID : 1499863605

Status : Not Answered
Chosen Option : --

Q.4 mmmmws%aﬁwmmaﬁrmﬁ&OMOWW%rm
3 TEHAT W o eeRr Zur dr oft?

Ans o 1. 346,000 *
/< 2. 356,000 b
X 2 376,000 | 0

/< 4. 266,000 E
Question ID : 1499863602

‘ Status : Answered
Chosen Option : 2

Ans

08(v3+1) m
< 2.109(v3+1) m
' 5 100(v3+1) m
X 4 110(v3+1) m

Question ID : 1499863610
Status : Not Answered
Chosen Option : --
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Ans X 1. 75
X245
V'3 05
X403

4% 45 50 3k 75 T FEadH TANESF (HCF) #id S

Question ID : 1499863599
Status : Answered

Ans X1_ 19
X276
v 38
X4 114

Chosen Option : 3
Q7 o qeaifew # 9 TER F T, 9T 38 oErEd, 114 9 3T 76 FEAEh & ot &) OfFeat
N TS FEaHE @ F T vodw 9T § o o s = ofgee

60
0’9

¢

Question ID : 1499863600

Status : Answered
Chosen Option : 4

Ans  of' 1.18.75
X< 2 18.76
X< 3 18.78
X 41877

Q8 afemra waeROT 2% —25x+ 77 =0 & Hell & T &

A
»
,&0

e

o

Question ID : 1499863613
Status : Not Answered
Chosen Option : --

&
o
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Q9 vw gFEER TE H F 35% & AW T IS F WU A F| I gFEER IW A F AT W IO
T &aT 8, e gee 25% & ST §1 g 1 iawa 7| el

Ans 200

X 2%
K2 2o
v %ﬂ%
X+ 2l

Q10 wfer # 8% T g # 0.35 ¢ @ | 3EF W F 3F TF A g 28 km ¥ 35 A
IHF T BT G 7T F TAT Wi B oA e o

Ans X 1. 95 km/hr o
X< 290 km/hr
V'3 80 km/hr 0

X 470 km/hr e
&o Question ID : 1499863606

Status : Answered
Chosen Option : 3

AN 22430 F A T 4 : 5 F 37T

Are 121,080 3kt z1,®
X 2 71,000 3R qo
2 3 2980 14350
<4 3, 71,300

Question ID : 1499863601
Status : Answered
Chosen Option : 1

At T FEFE T
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Q12 3w s 4ofr (GP) & aR Fwa 7T Sifsw, Sws @t iy wger o5 @ Ew 11 § T 9 s
THY 9E FT HAH 22 &7

Ans 1113, 22/3, 44/3 3T 88/3
X 2 22/3, 55/6, 55/3 3T 187/6

X 3. 22/3, 55/3, 110/3 3iiT 187/3

X 4 11, 33/2, 22, 3i\x 772

Question ID : 1499863609
Status : Not An e

Chosen Option : --

Q13 48 ¥ IUHEET H TH AT UGS FT FEA AT Fiew

o oo

BN <

9

Chosen

Question ID : 1499863612

Status : Answered
Option : 4

Q14 =fy v F F¥ 2600 F T T gFEAR F 25% FT T

Ans  of 1. 3480
X 2 37380 b
X3 3580 0

X< 43280

FA F FT qpT A Faw

¢

e Question ID : 1499863603

Status : Answered

Chosen Option : 1

Q15 siifar & 24 e 3T & Eg 75 T afE @ AR SR #r AET SEr S, ar 9w

==t F T 78 s giaT 1 3 v Tewas arar 68 ¥, @ gpwr emas A w e

EaiE |
Ans 5

14
v'3 16
X417

Chosen

Question ID : 1499863608

Status : Not Answered
Option : --

Section : General Intelligence and Reasoning
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Q.1 = feu e uy #, v HY= fear mar @ o a1g & e | 3R 1 few e &1 sy Bu
T 3T U 9 $© F TG A A1 8, R &Y sl iR U Try faar +¥ ok fAofa & fas
FYF H &I TE TSR # A D19 A1 d1fb® FU I U SId Teg AW 8l
?Rﬂ'é"\:rm:

(A) afe Faa frewd | BT TR HaT 8

(B) afe Faa frsw 11 BT SR HAT

(C) Tfe 1 a1 11 STERT A &

(D) afe 1 3R 11 G STTRVT Fd &

PY; AT AW W LED AF TG fPT &I &1
forspd 1: 3 3iftre TH® UeE Fd 1

e 2: 3 yafarur & Siftre srgea &1

Ans X 1A
K 2c
X 3B
o 4D

Question |D: 1499863615
Status . Answered
Chosen Option : 4

Q2 frufafad we gear & gu I 1d S0

(M) (2 (@) (0 (=) &
() (2 D
O © ©
Ans X 122
W 2 21

K325
X 4.30

Question ID : 1499863628
Status : Answered
Chosen Option : 2

Q3 T e ol ¢ o U v g« 81 few e e F @ Wt e s wwa Y S

DI ORT S
15, 5,17, 4, 19,

Ans X1 2
2,21
X 320
W43

Question ID : 1499863616
Status : Answered
Chosen Option : 4
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Q.4 FEfif@d saR $) Tafud $33 I’ T SUGH U a9d1 81
AVSEBORINTO

Y 7T Teg; & e A Pt R 7T 82

Ans x1_5
X 2.1
538
o 47

Question ID : 1499863627
Status : Answered
Chosen Option : 2

Q.5 fiu e fawenl ¥ @ fF v Af¥a a8d F wuE &1 eiie, T e sy 69 & avg
T 81 39 fapeu 1 99 &Y S 3T | e &l e‘

Ans X" 1 e

X 2. =afafa e

3. TR 0

X 4. i

Question ID : 1499863620

Status : Answered
Chosen Option : 3

Q.6 & 7S npfa A, ﬁaﬂﬁgmuﬁrﬁfﬁamaﬁnﬁm
ER BT
&t 1S aropfar ® Braifea wmT @ gwifar 82

Ans X 1 3,7
/X 2.7
X3
off i

Question ID : 1499863624
Status : Answered
Chosen Option : 4
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Q.7 iU e & / 9 ve AfYa adid & 99 ) grais, e e o &9 3t e
T8 31 39 fawed &7 70 B St 3T | AT B

Ans

r 0

‘ Question ID : 1499863622
Status : Answered
Chosen Option : 4
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Q.8 JEA TS A B¢ &7 ¥ Fuffaa #) srafa #3:
1) IW U
2) Tar
3) Y Uaw

4) ISR
Ans  of 1 4132

X 2.1234
/X 3.1324
75 4.4231

Question ID : 1499863625
Status : Answe
Chosen Option : 1
Q.9 I fAFHey FT 7= B St ST 3MYR W T e | Wafta @ S gadt e ugeht
e | HEfld B
5:36::12:°?
Ans X 1 180 0
/X 2.125

M oo

Question ID : 1499863621
Status : Answered
Chosen Option : 3

Q.10 3 FHFH0 $B ey F YR W g fpy wra g1
T BN Sl GAY T T B
3x4x5=31625
4% 5x6=42536
5x 6 x 7 = 53649

6x7x8=7
Ans " 169336 0
75 2.36498 &
of 3. 64964 e

< 4. 96636 ¢

HYP, THIHIUT BT

Question ID : 1499863619
Status : Not Answered
Chosen Option : --
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Q.11 i fRw T wy= F 1 3R 1 & 3 frewd dae forg g &1 g5 9 gU o wuRi A &
TSR T §, YA 8 98 arafaear @ 3@ udia g, Fofa & i i-an freed aifée
U 3 fear mar @ ok FAf¥a w0 A Y=l # § 7 TFSTE BT IR0 B 2

IR gifrg:

(A) afe Faa frewd | ST SR HaT 8
(B) af Faa frew 1| BT SR HAT R
(C) Tfe 14T 11 STERT A &

(D) TfE 1 3R 11 T SR et

HYT: ST T S e g
s 1: =T @1 ST e B
e 2: gy F e R & 1 s dar @)
Ans X' 1.C
K 2.A
W 3D
75 4.B

: 1499863614
s : Not Answered
sen Option : --

Q.12 ¢ g & 7 & fored v ue gw 81 Ry ¢ faeedt # & wet farew a1

4R Bt QT S
4,10, 28, 82, ?

Ans X1 265 e

o 2244
/X 3.256

o
X 4205 *

Question ID : 1499863617
Status : Not Answered

Chosen Option : --

Q.13 g A '+ &1 ufafifRra sar
P ufafftra sRar g,
W15K3A57L18B9 ‘
5P T Yo T 872

Ans X" 1.300

<

wfafiRia $rar 8, B + &1 ufaffa s=ar @, L

éso

Question ID : 1499863618
Status : Not Answered

Chosen Option : --
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Q.14 Ry 7T vk} # PrafafRd 3§ @ o9 w ddy gufar 272
HATST, 3T, SHfRETH
Ans

51

0"9

X

& Question ID : 1499863623
e Status : Not Answered
! Chosen Option : --

o

K4
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Q.15 famfifad we YT # qu S@1 3 B3|
10| 4 | 3

3| b ?

41 6| 5
Ans X' 15
2s vy 2 o
K 3.4
X 415 }

Question 9863626
S t Answered

Chosel

Section : General English :
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Q1
Ans

Comprehension:
Read the following passage and answer the questions given after it.

We are all born milk drinkers. Babies' guts produce the enzyme lactase, which break down
lactose, the sugar in cow's milk, into the simpler sugars — glucose and galactose. But for the
majority of humans, production of the enzyme lactase plummets after weaning.

From a human perspective — no, to go further than that, from a mammalian perspective — the
norm is to be able to tolerate your producing lactase and become lactose intolerant,"
said Adam Fox, a consultant paediatric allergist at Guy's and St Thomas' hospitals, and one
of the UK's leading food allergy experts. "Then you've got a small group of humans that have
a mutation which means they maintain production of lactase into adulthood. Northern
Europeans, the Masai [in east Africa], some Arab groups as well. But that's the exception, not
the rule."

That schism between milk-drinkers and the rest - actually a series of independent genetic
mutations appears to have occurred about 10,000 years ago, around the time humans were
domesticating farm animals. For lactose-intolerant people, a glass of milk can induce bloating,
stomach pains and diarrhoea. (Lactose intolerance should not be - though often is - certified
with cow’s milk allergy, an immune response to the proteins in cow’s milk that affects around
1% of UK adults.)

Even in northern Europe, milk as we know it is a recent phenomenon. Fresh milk, left
unrefrigerated, spoils quickly and can harbor a variety of deadly pathogens, including E Coli
and tuberculosis. For most of history milk was either consumed within moments of milking
processed as cheese or yoghurt. Few drank milk in its liquid form. “The Romans considered it
a sign of barbarism," said Mark Kurlansky, author of Milk! A 10,000-Year FoodFracas.

“The only people who drank milk were people on farms, because they were the only.ones who
could get it fresh enough.” Even then, cow’s milk “as considered inferior to alternatives such
as goat or donkey. In the 19th century, “swill milk” - so-called because cowswere fed the
filthy runoff from inner-city breweries, turning their milk blue - was linked with
thousands of infant deaths. Only in the early 20th century, with the introductien of
mandatory pasteurization - in which milk is heated to kill off any bacteria before bottling - did
milk become safe enough for most people to drink regularly.)

SubQuestion No : 1
What is this passage about?

x 1. How pasteurized milk cured lactose intolerance
\_f 2. Milk and lactose intolerance
x 3. Weaning and the plummeting enzyme'lactase

x 4. Why some adults develop milkintelerance

Question ID

: 1499863634

Status : Answered

Chosen Option :

3
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Comprehension:
Read the following passage and answer the questions given after it.

We are all born milk drinkers. Babies' guts produce the enzyme lactase, which break down
lactose, the sugar in cow's milk, into the simpler sugars — glucose and galactose. But for the
majority of humans, production of the enzyme lactase plummets after weaning.

From a human perspective — no, to go further than that, from a mammalian perspective — the
norm is to be able to tolerate your producing lactase and become lactose intolerant,"
said Adam Fox, a consultant paediatric allergist at Guy's and St Thomas' hospitals, and one
of the UK's leading food allergy experts. "Then you've got a small group of humans that have
a mutation which means they maintain production of lactase into adulthood. Northern
Europeans, the Masai [in east Africa], some Arab groups as well. But that's the exception, not
the rule."

That schism between milk-drinkers and the rest - actually a series of independent genetic
mutations appears to have occurred about 10,000 years ago, around the time humans were
domesticating farm animals. For lactose-intolerant people, a glass of milk can induce bloating,
stomach pains and diarrhoea. (Lactose intolerance should not be - though often is - certified
with cow’s milk allergy, an immune response to the proteins in cow’s milk that affects around
1% of UK adults.)

Even in northern Europe, milk as we know it is a recent phenomenon. Fresh milk, left
unrefrigerated, spoils quickly and can harbor a variety of deadly pathogens, including E Coli
and tuberculosis. For most of history milk was either consumed within moments of milking
processed as cheese or yoghurt. Few drank milk in its liquid form. “The Romans considered it
a sign of barbarism," said Mark Kurlansky, author of Milk! A 10,000-Year FoodFracas.

“The only people who drank milk were people on farms, because they were the only.ones who
could get it fresh enough.” Even then, cow’s milk “as considered inferior to alternatives stch
as goat or donkey. In the 19th century, “swill milk” - so-called because cowswere fed the
filthy runoff from inner-city breweries, turning their milk blue - was linked with
thousands of infant deaths. Only in the early 20th century, with the introductien of
mandatory pasteurization - in which milk is heated to kill off any bacteria before bottling - did
milk become safe enough for most people to drink regularly.)

SubQuestion No : 2

Q.2 According to the passage, ‘Lactose intolerance" is

Ans x 1. experience and suffering problems in the digestive system
x 2. linked to discovery and propagation of plant mitk
x 3. Human body not being able to accept cow.s milk allergy.

\_f 4. to be able to tolerate your lactagejsedretion

Chosen

Question ID : 1499863631

Status : Answered
Option : 3

https://cdn3.digialm.com//per/g21/pub/1891/tauchstong/AssessmentQPHTMLMode1//148910205/18910205S1
P ’ Pere2 P S SR TS WEb S te SHidytdsudcessd

OIIDES‘QM 5827846862924642/19CNEO1...

38/57



2o Telegram More Updats. Motes Al RISYIRHR MR RIFU AN PERSE RERNIST:,

Q.3

Ans

Comprehension:

Read the following passage and answer the questions given after it.

We are all born milk drinkers. Babies' guts produce the enzyme lactase, which break down
lactose, the sugar in cow's milk, into the simpler sugars — glucose and galactose. But for the
majority of humans, production of the enzyme lactase plummets after weaning.

From a human perspective — no, to go further than that, from a mammalian perspective — the
norm is to be able to tolerate your producing lactase and become lactose intolerant,"
said Adam Fox, a consultant paediatric allergist at Guy's and St Thomas' hospitals, and one
of the UK's leading food allergy experts. "Then you've got a small group of humans that have
a mutation which means they maintain production of lactase into adulthood. Northern
Europeans, the Masai [in east Africa], some Arab groups as well. But that's the exception, not
the rule."

That schism between milk-drinkers and the rest - actually a series of independent genetic
mutations appears to have occurred about 10,000 years ago, around the time humans were
domesticating farm animals. For lactose-intolerant people, a glass of milk can induce bloating,
stomach pains and diarrhoea. (Lactose intolerance should not be - though often is - certified
with cow’s milk allergy, an immune response to the proteins in cow’s milk that affects around
1% of UK adults.)

Even in northern Europe, milk as we know it is a recent phenomenon. Fresh milk, left
unrefrigerated, spoils quickly and can harbor a variety of deadly pathogens, including E Coli
and tuberculosis. For most of history milk was either consumed within moments of milking
processed as cheese or yoghurt. Few drank milk in its liquid form. “The Romans considered it
a sign of barbarism," said Mark Kurlansky, author of Milk! A 10,000-Year FoodFracas.

“The only people who drank milk were people on farms, because they were the only.ones who
could get it fresh enough.” Even then, cow’s milk “as considered inferior to alternatives stch
as goat or donkey. In the 19th century, “swill milk” - so-called because cowswere fed the
filthy runoff from inner-city breweries, turning their milk blue - was linked with
thousands of infant deaths. Only in the early 20th century, with the introduction of
mandatory pasteurization - in which milk is heated to kill off any bacteria before bottling - did
milk become safe enough for most people to drink regularly.)

SubQuestion No : 3

From the understanding of the given passage, 'Most adults in India continue to have
milk without suffering any of the issues outlined in the passage because

\f 1. they maintain production of lactase intogaduiffiecd
x 2. they have no other source of nutrients o nourish them
x 3. genetic mutation has helped reduce lactase production

x 4. they continue to live in farmsfand‘get fresh milk

Chosen

Question ID : 1499863632

Status : Answered
Option : 4
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Q.4

Ans

Comprehension:

Read the following passage and answer the questions given after it.

We are all born milk drinkers. Babies' guts produce the enzyme lactase, which break down
lactose, the sugar in cow's milk, into the simpler sugars — glucose and galactose. But for the
majority of humans, production of the enzyme lactase plummets after weaning.

From a human perspective — no, to go further than that, from a mammalian perspective — the
norm is to be able to tolerate your producing lactase and become lactose intolerant,”
said Adam Fox, a consultant paediatric allergist at Guy's and St Thomas' hospitals, and one
of the UK's leading food allergy experts. "Then you've got a small group of humans that have
a mutation which means they maintain production of lactase into adulthood. Northern
Europeans, the Masai [in east Africa], some Arab groups as well. But that's the exception, not
the rule."

That schism between milk-drinkers and the rest - actually a series of independent genetic
mutations appears to have occurred about 10,000 years ago, around the time humans were
domesticating farm animals. For lactose-intolerant people, a glass of milk can induce bloating,
stomach pains and diarrhoea. (Lactose intolerance should not be - though often is - certified
with cow’s milk allergy, an immune response to the proteins in cow’s milk that affects around
1% of UK adults.)

Even in northern Europe, milk as we know it is a recent phenomenon. Fresh milk, left
unrefrigerated, spoils quickly and can harbor a variety of deadly pathogens, including E Coli
and tuberculosis. For most of history milk was either consumed within moments of milking
processed as cheese or yoghurt. Few drank milk in its liquid form. “The Romans considered it
a sign of barbarism," said Mark Kurlansky, author of Milk! A 10,000-Year FoodFracas.

“The only people who drank milk were people on farms, because they were the only.ones who
could get it fresh enough.” Even then, cow’s milk “as considered inferior to alternatives stch
as goat or donkey. In the 19th century, “swill milk” - so-called because cowswere fed the
filthy runoff from inner-city breweries, turning their milk blue - was linked with
thousands of infant deaths. Only in the early 20th century, with the introduction of
mandatory pasteurization - in which milk is heated to kill off any bacteria before bottling - did
milk become safe enough for most people to drink regularly.)

SubQuestion No : 4

The author points out that in the 19th century, swill milk was linked with thousands of
infant deaths. Which ONE of the actions below wouldchave; if familiar, been available
and practicable for the people of that time, saved these children?

x 1. Bringing up inner city breweries
x 2. Freezing the milk to remove the pollutants
( 3. Feeding the cows, uncontgmindtéd healthy food.

x 4. Treating lactose intolerance'with4medicines

Chosen

Question ID : 1499863630

Status : Answered
Option : 3
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Comprehension:

Read the following passage and answer the questions given after it.

We are all born milk drinkers. Babies' guts produce the enzyme lactase, which break down
lactose, the sugar in cow's milk, into the simpler sugars — glucose and galactose. But for the
majority of humans, production of the enzyme lactase plummets after weaning.

From a human perspective — no, to go further than that, from a mammalian perspective — the
norm is to be able to tolerate your producing lactase and become lactose intolerant,"
said Adam Fox, a consultant paediatric allergist at Guy's and St Thomas' hospitals, and one
of the UK's leading food allergy experts. "Then you've got a small group of humans that have
a mutation which means they maintain production of lactase into adulthood. Northern
Europeans, the Masai [in east Africa], some Arab groups as well. But that's the exception, not
the rule."

That schism between milk-drinkers and the rest - actually a series of independent genetic
mutations appears to have occurred about 10,000 years ago, around the time humans were
domesticating farm animals. For lactose-intolerant people, a glass of milk can induce bloating,
stomach pains and diarrhoea. (Lactose intolerance should not be - though often is - certified
with cow’s milk allergy, an immune response to the proteins in cow’s milk that affects around
1% of UK adults.)

Even in northern Europe, milk as we know it is a recent phenomenon. Fresh milk, left
unrefrigerated, spoils quickly and can harbor a variety of deadly pathogens, including E Coli
and tuberculosis. For most of history milk was either consumed within moments of milking
processed as cheese or yoghurt. Few drank milk in its liquid form. “The Romans considered it
a sign of barbarism," said Mark Kurlansky, author of Milk! A 10,000-Year FoodFracas.

“The only people who drank milk were people on farms, because they were the only.ones who
could get it fresh enough.” Even then, cow’s milk “as considered inferior to alternatives such
as goat or donkey. In the 19th century, “swill milk” - so-called because cowswere fed the
filthy runoff from inner-city breweries, turning their milk blue - was linked with
thousands of infant deaths. Only in the early 20th century, with the introductien of
mandatory pasteurization - in which milk is heated to kill off any bacteria before bottling - did
milk become safe enough for most people to drink regularly.)

SubQuestion No : 5

Q.5 According to the author in the passage, “More than 90% of adults in countries such as
the UK, Sweden and Ireland can drink milk without suffering‘any ill effects” because

Ans x 1. they have a lot of dairy products such as.cheese‘and Yoghurt.
x 2. they always had pasteurized milk and ‘aveided flesh milk
x 3. these countries were farmland Before they became sophisticated cities

( 4. they have a history of dom@s{i€aiipg farm animals

Question ID : 1499863633
Status : Answered
Chosen Option : 3

= —
Q.6 Mitigators and,Intensifiers act as which part of speech in a sentence?

Ans x 14n0un

K 2. adjective
q 3. adverb
x 4. subject

Question ID : 1499863637
Status : Answered
Chosen Option : 4
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Q.7 Select the most appropriate meaning of the given idiom.

Give someone the cold shoulder

Ans x 1. deny someone comforting clothes

x 2. serve cold meat to someone
J 3. ignore or show indifference

x 4. bury someone in freezing cold

Question ID : 1499863677
Status : Answered
Chosen Option : 4

Q.8 Select the most appropriate ANTONYM of the given word.
Wild
Ans x 1. Ferocious

X 2. Unmanaged

“ 3. Tamed
x 4. Fierce

Question ID : 1499863671
Status : Answered
Chosen Option : 1

Q.9 In the following sentence some parts in BOLD letters. Choo
alternatives for ever such part and then choose the best c

Despite | had (A)/having (B) very little(A)/few (B) tim
finish (B) that report before (A)/till(B) the end of Jan

/5 1.ABAB
O

Ans

/X 2. ABBA

/X 3.AAAA

o 4.BAAA

ded in finishing (A)/ to

r of the two
ion as your answer.

Question ID : 1499863645
Status : Answered
Chosen Option : 2

saying something to me when | was quit.

as quite
2. had about to quit

x 3. had been quitting

J 4. | was quiet

Question ID : 1499863681
Status : Answered
Chosen Option : 1
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Q.11 Select the most appropriate meaning of the given idiom.

(To put one’s) cards on the table

Ans x 1. to deal a game of cards

x 2. to accept defeat
X 3. to be able to continue

« 4. to be honest

Question ID : 1499863678
Status : Answered

Q.12 Choose the most appropiate combination of preposition in the given sentences.
I. Ram is angry Shyam's bad conduct.

Il. Ram is angry Shyam.
lll. He is angry with me my remark.

Ans x 1. with-for-at
75 2. at-with-with
J 3. at-with-for

75 4. for-with-at

Chosen Option : 1

¢

Question ID : 1499863640
Status : Answered
Chosen Option : 1

Q.13 In the following question a sentence is given in Direc
alternatives choose the one which best expresses t
Speech.

Priya said, “The book is very interesting.”

Ans

« 1. Priya said that the book was ve .
x 2. Priya said that the book w& interesting
x 3. Priya said that the bo

. Priya said that the book ji

¢

very interesting.

ry interesting.

eech. Out of the four
e in Indirect/Direct

Question ID : 1499863653
Status : Answered
Chosen Option : 1

most appropriate antonym of the given word.

Ans . reservation

. slavery
. autonomy

. freedom

Question ID : 1499863675
Status : Not Answered
Chosen Option : --
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Q.15 In the statement given below, a part of the sentence is highlighted bold. Out of the four
options which follow, choose the one which best replaces the highlighted phrase.

The teacher told us that the prize would be present the next day.

Ans x 1. shall be presented tomorrow
J 2. would be presented the next day
x 3. would have been presented the next day

x 4. should be presented tomorrow

Question ID : 1499863680

Status : Answered

Chosen Option : 4 ’

Q.16 In the following question, out of the four alternatives, select the alternative which is
the best substitute of the phrase.

Organisms capable of living on land and water.
Ans x 1. Parochial

o 2. Amphibian

x 4. Aquatic

/< 3. Botanist o

Question ID : 1499863669

Status : Not Answered

Chosen Option : --

e may not be

mmatically incorrect

Q.17 In the following questions, four sentences are given
grammatically correct. From the given options, choo.

sentence.

A. There is also a push to recruit more range or o tackle poaching.

B. The Trident Underwater Drone is design actured by California-based
OpenROV.

C. Hibernation gets a lot most interesting e animal kingdom.

D. Humans mostly work by day; ork by night.
Ans x 1.B
K 2.A

/X 3.D ¢
Wac

Question ID : 1499863687

Status : Answered

Chosen Option : 3
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Q.18 In the following questions, four sentences are given which may or may not be
grammatically correct.From the given options, choose the grammatically incorrect
sentence/sentences.

A. Twenty to thirty percent of the world’s urban water supply is lost to leaking each
year.

B. The passion she felt for the ambitious young man proved to be a weakness.

C. Schools and health centres are built from brick, slathered in concrete, and fitted
with glass windows.

D. Tea is the second most popular drink in the world after water.

Ans X1.B
X 2.0

WA
Xac P \o
Question ID : 1499863
Status : d
Chosen Option:

A campus fire in California caused the death of at least twenty-three persons. o

Ans x 1. The death of at least twenty three persons will be caused in a campus fire i

Q.19 Choose the option that is the passive form of the sentence.

California.
X 2. At least twenty-three person’s death was caused in a campus fire i rnia.
J 3. The death of at least twenty three persons was caused by a in
California.

x 4. The death of at least twenty three persons caused a c@ire in California.

Question ID : 1499863662
Status : Answered
Chosen Option : 4

Q.20 In the following question, out of the four atives, select the alternative which is

the best substitute of the phrase
One who is hostile and aggres &
Ans x 1. Legendary é
x 2. Noisome ‘

x 3. Sedenta

o 4. BelijgeTeht

Question ID : 1499863668
Status : Not Answered
Chosen Option : --
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Q.21

In the following question a sentence is given in Direct/Indirect speech. Out of the four
alternatives choose the one which best expresses the sentence in Indirect/Direct
Speech.

He said, “Why didn’t you send your application to me?”

Ans

Ans X" 1. He inquired why did | not send my application to him
J 2. He inquired why | / he had not sent my / his application to him
X 3. He inquired why | did not send my application to him
x 4. He inquired why had | not sent my application to him
Question ID : 1499863655
Status : Answelg
Chosen Option : 1
Q.22 A sentence with an underlined word is given below. Select the most appropriate
SYNONYM for the underlined word from the given options.
The statesman extolled the ambassador who single-handedly negotiated the peace e

treaty.
75 1. Scolded 0
/5 2. Abused o
J 3. Praised o
75 4. Punished

Question ID : 1499863663
Status : Not Answered
o Chosen Option : --

Q.23

Ans

&ly or may not be

e grammatically incorrect

In the following questions, four sentences are given
grammatically correct.From the given optio
sentence/sentences.

A. The responsive traffic lights have red
B. The number of commercial drones ma
C. The Japanese, it seems, are b
eating them.

D. Climate change is creating

/< 1.BandC
/5 2.A,CandD &
o 3. AIABC

X 4.Aa

le transit time along the route.
ruple in U.S. skies by 2022.
e interested in watching whales than

rs and losers for whales.

Question ID : 1499863689
Status : Answered
Chosen Option : 3
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Q.24 Select the most appropriate meaning of the given idiom.

Greek to me

Ans ( 1. incomprehensible
75 2. inevitable
/< 3.incredible

/X 4. intangible

Question ID : 1499863676
Status : Not Answered
Chosen Option : --

Q.25 In the following question a sentence is given in Direct/Indirect speech. Out of the four
alternatives choose the one which best expresses the sentence in Indirect/Direct

Speech. e‘
“What did you see at the South Pole?” Ashok asked Anil.
Ans X" 1. Ashok asked Anil what did he see at the South Pole

( 2. Ashok asked Anil about what he had seen at the South Pole 0
X 3. Ashok asked Anil that he saw anything at the South Pole o

x 4. Ashok asked Anil if he had seen something at the South Pole

Question ID : 1499863654
Status : Answered
Chosen Option : 1

Q.26 Identify the segment in the sentence which contains t ﬂcal error from the
given options. If there is no error, mark your answer ror'.

No sooner the teacher enter the classroom t|
Ans x 1. No error

x 2. teacher enter the classroom
75 3. than the students stood u&

f 4. No sooner the

ents stood up.

‘ Question ID : 1499863683
Status : Answered
Chosen Option : 4

Q.27 Select the c ctive form of the given sentence.

By were you taught Mathematics?

Ans ho teach you Mathematics?
2. Who teaching you Mathematics?
( 3. Who taught you Mathematics?

x 4. Whom are you teaching Mathematics?

Question ID : 1499863659
Status : Answered
Chosen Option : 3
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Q.28 Which of the following is a non-grading adverb of degree?
Ans x 1. extremely

X 2. very
J 3. utterly
X 4. rather

Question ID : 1499863636
Status : Answered
Chosen Option : 1

Q.29 In the following sentence some parts in BOLD letters. Choose the better of the two

alternatives for ever such part and then choose the best combination as your answer. ’\
(Peering(A)/Having peered(B)) at each interview subject, the researchers checked for

discoloration. ‘
One interview subject shrieked upon (hearing(A)/having heard(B)) the interviewer’s

comment about “teeth as yellow as sunflowers.”

(Refusing(A)/Having refused(B)) to open her mouth, she glared silently at the

interviewer.
With the market research on Green Teeth (completed(A)/having been completed(B)),

the team tabulated the results.
Ans  of 1 ANAB o
75 2.AABB o
/X 3.BBAA

75 4.ABAB

Question ID : 1499863652

&o Status : Not Answered

Chosen Option : --

Q.30 Select the correct active form of the given se
He was given a book for his birthday.
Ans J 1. A book was given to him fqr hi haay:
x 2. She has gave him a bookkrthday.
x 3. She will be giving hi for his birthday.

75 4. She give a boo h‘or his birthday.

Question ID : 1499863658
Status : Answered
Chosen Option : 4
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Q.31 In the following sentence some parts in BOLD letters. Choose the better of the two
alternatives for ever such part and then choose the best combination as your answer.

Resisting the urge to barf, Truffle ate (bad(A)/badly(B)), according to his doggie
standards.

Truffle, who didn’t feel (good(A)/well(B)), barked quite a bit that day.

Tired of the din, his owner confiscated the kibble and screamed, “(Bad(A)/Badly(B))
dog!

Ans x 1. AAB

/X 2.BAB
o 3.8BA
/X 4.BBB

Question ID : 1499863%
Status : Not Answer:

Chosen Option : --

Q.32 Select the most appropriate SYNONYM of the given word.

Amuse 0
Ans x 1. entice
x 2. engage
/X 3. divert o

J 4. please
Question ID : 1499863667
o Status : Not Answered
Chosen Option : --

in the given sentences.

Q.33 Choose the most appropiate combination of

I. I cannot compete the young man
Il. They compete _ a prize.
Ans x 1. for-for 0
75 2. with-with &
X 3. for-with

o 4. with-for 'Y

Question ID : 1499863642
Status : Answered
Chosen Option : 4
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Q.34 Identify the segment in the sentence which contains the grammatical error from the
given options. If there is no error, mark your answer as ‘No error'.

It is us who are responsible for maintaining the law and order situation in the city.

Ans X" 1. for maintaining the law and order

x 2. No error

“ 3. Itis us who are responsible

X 4. situation in the city.

Question ID : 1499863684
Status : Answered
Chosen Option : 1 ’

Q.35 Select the most appropriate ANTONYM of the given word.

Nascent e‘
Ans x 1. Hiatus
“ 2. Developed 0
x 3. Damp
75 4. Denial o
e Question ID : 1499863674

Status : Not Answered
Chosen Option : --

Q.36 Choose the option that is the active form of the sentence.

It was decided by the members that the report woul
for his comments.

d before the Chairman

Ans « 1. The members decided to place the rep Chairman for his comments.

x 2. The Chairman’s comments were to on the report of the members.

x 3. The Chairman decided to plac before the members.

x 4. Did the members decide t e report before the Chairman?

" Question ID : 1499863661

‘ Status : Answered
Chosen Option : 2
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Q.37 In the following sentence some parts in BOLD letters. Choose the better of the two
alternatives for ever such part and then choose the best combination as your answer.

Marty is such a fanatic about seeds that she once counted all the seeds on a
strawberry before she ate it; there (are(A)/were(B)) over 100 on it.

Marty was very critical of the cuisine, even though she (knows(A)/knew(B)) almost
nothing about cooking.

Marty at the time was following a vegetarian diet, which (does(A)/did(B)) not include
meat.

Ans X" 1. AAB

o 2888
75 3.BAB

/X 4.BBA PN

Question ID : 149986365

Q.38 Select the most appropriate SYNONYM of the given word.

Overlook
Ans x 1. sanction

x 2. punish
J 3. ignore
75 4. hinder

Question ID : 1499863666

&o Status : Answered

Chosen Option : 1

Q.39 In the following sentence some parts in BOLD . Choose the better of the two
alternatives for ever such part and then cho t est combination as your answer.

It seems (A)/is seeming (B) to me that wh
come (B) we nothing required (A
together.

Ans " 1 AABAA e
7% 2.BBAAB X

o 3.AABBB

/< 4.8BB

e will(A)/nothing required(B) comes (A)/
e to talk nothing required (A)/ about (B) it

Question ID : 1499863646
Status : Not Answered
Chosen Option : --
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Q.40 Select the most appropriate SYNONYM of the given word.

Export
Ans J 1. Transmit

x 2. Purport
x 3. Receive

x 4. Support

Question ID : 1499863664
Status : Answered
Chosen Option : 1

Q.41 A sentence with an underlined word is given below. Select the most appropriate
ANTONYM for the underlined word from the given options.

The disease that once claimed millions of lives has now been eradicated. e‘
Ans X" 1. Removed e
x 2. Thrown
#< 3. Eliminated
“ 4. Preserved o
e Question ID : 1499863672

Status : Not Answered
Chosen Option : --

ech. Out of the four
Indirect/Direct

Q.42 In the following question a sentence is given in Direct/Indir
alternatives choose the one which best expresses th
Speech.

The little boy said, “l wish it rains hard so th ve to go to school.”

Ans x 1. The little boy wished it rained hard so ould'not go to school.

x 2. The little boy wished it rained har e would not have to go to school.

x 3. The little boy wished it rai a at he will not have to go to school.

“ 4. The little boy earnestl t it rained hard so that he would not have to go to

school.
‘ Question ID : 1499863657
Status : Answered
Chosen Option : 1
Q.43 Choos t appropiate combination of preposition in the given sentences.

the railway colony.
India.

Ans

Question ID : 1499863641
Status : Answered
Chosen Option : 3
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Q.44 Select the correct passive form of the given sentence.

They opened a new mall nearby last month.

Ans x 1. A new mall can be open nearby last month.
J 2. A new mall was opened nearby last month.
x 3. A new mall will be opened nearby last month.

x 4. Nearby a new mall is opened last month.

Question ID : 1499863660
Status : Answered
Chosen Option : 2

Q.45 In the following question a sentence is given in Direct/Indirect speech. Out of the four
alternatives choose the one which best expresses the sentence in Indirect/Direct

Speech. e‘
Ram asked Krishna, “Where are you going today?”

Ans x 1. Ram asked Krishna as to where he was going on the previous day 06

X 2. Ram asked Krishna where was he going the next day

x 3. Ram asked Krishna where was he going the day before o

( 4. Ram asked Krishna where he was going that day

Question ID : 1499863656
Status : Answered
Chosen Option : 4

Q.46 What can adverbs of indefinite frequency do that adv ate frequency
cannot?
Ans x 1. modify prepositional phrases
x 2. modify adverbs b

( 3. modify adjectives

x 4. modify verbs &

Question ID : 1499863639
Status : Answered

‘ Chosen Option : 1
Q.47 What is the ad gree used in the sentence below?
“1 will reluc o it, but it may take a lot of time, so | will start rather immediately.”

x 4. reluctantly

Question ID : 1499863635
Status : Answered
Chosen Option : 2
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Q.48 In the following questions, four sentences are given which may or may not be
grammatically correct.From the given options, choose the grammatically incorrect
sentence.

A. The plant is 25 percent more efficient than the previous waste-incineration facility.
B. In the wilder of Iran, the protection of species can be a matter of life or death

C. The idea of burning garbage has its critics.

D. The project was aimed at reducing food-packaging waste for astronauts.

Ans 1D
W28
X 3c
K 4A

Question ID : 1499863%
Status : nNAOt AttewR a_nd
eview

Chosen Option : -

Q.49 Identify the segment in the sentence which contains the grammatical error from the
given options. If there is no error, mark your answer as ‘No error'.

She brings me flowers always when she comes to visit me. o
Ans J 1. always when she
x 2. comes to visit me. o
x 3. She brings me flowers

x 4. No error

Status : Answered
Chosen Option : 2

&o Question ID : 1499863682

Q.50 Select the most appropriate meaning of the i

To be the Devil’s advocate

Ans X" 1. to represent an accused i@
0

x 2. to present an argume a well-known evil man

x 3. to represent the devil as@n advocate in witch trials
( 4. to pretend t igan idea or plan that a lot of people support

Question ID : 1499863679
Status : Not Answered
Chosen Option : --
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Q.51 In the following questions, four sentences are given which may or may not be
grammatically correct.From the given options, choose the grammatically incorrect
sentence/sentences.

A. North American ponds change drastically from summer to winter.

B. A lot of people who work long hours opt to adopt a cat instead of a dog.

C. Polar bears are an endangered species in Russia, and the federal government has
refused to issue licenses to shoot them.

D. More than any other city creature, rats inspire fear and disgust.

Ans J 1. All the given options are correct
X 2.8
X 3.cC
K 4A

L/

Chosen Option : -

Question ID : 149986368

Status : N

Q.52 Select the most appropriate SYNONYM of the given word.

#< 2. shrink o

x 3. Condense
x 4. Contract

Expand
Ans f 1. Augment o

& Chosen Option : --

Question ID : 1499863665
Status : Not Answered

Q.53 Choose the most appropiate combination of in the given sentences.

I. | differ you.
Il. India differs Japan.
Ans J 1. with-from

75 2. with-with
X 3. from-from

x 4. from-with ‘

Question ID : 1499863644
Status : Answered

Chosen Option : 3
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Q.54 A sentence with an underlined word is given below. Select the most appropriate
ANTONYM for the underlined word from the given options.

As you step into the air-conditioned office, there is an abrupt change in temperature.
Ans x 1. Immediate

x 2. Quick
“ 3. Gradual

x 4. Sudden

Question ID : 1499863673

Status : Answered

Chosen Option : 4 ’

Q.55 Fill in the blank with the word given in the bracket using the correct prefix out of the
given four options.

The manufacturers received thousands of complaints from (satisfied)
customers.

Ans  of 1 dis

o <

Question ID : 1499863649

Status : Answered

Chosen Option : 2

Q.56 Choose the most appropiate combination of prepositi given sentences.

I. He died cholera.
Il. He died overwork.

Ans J 1. of-from

x 4. from-from

75 2. of-of 0
75 3. from-of &
2

Question ID : 1499863643

Status : Answered

Chosen Option : 4

Q.57 Fillin with grammatically correct option.

asked to see wedding pictures, she didn’t expect Annie to put on
welve-hour slide show.

Ans

Question ID : 1499863648

Status : Answered

Chosen Option : 3
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Q.58 Identify the intensifier in the following sentence.

“Almost everything in the list was unbelievably expensive to buy.”

Ans x 1. buy
x 2. almost

o 3. unbelievably

x 4. expensive

Question ID : 1499863638
Status : Not Answered
Chosen Option : --

Q.59 Fillin the blanks with grammatically correct option.

There's a mirror the sink. ‘
Ans ( 1. above e
x 2. besides e
75 3. off 0
X 4.into o

Question ID : 1499863650
Status : Not Answered
Chosen Option : --

Q.60 Match the words with their meaning.

a. Hapless 1. Unfortunate
b. Impuissant | 2. Mundan
¢. Quotidian 3. Helples

Ans X' 1.a-2,b-3,c-1 0
X 2a-3b-1,c-2 &
o 3a-1b-3c-2 e
/X 4.a-2,b-1,c-3

¢

xO

Question ID : 1499863670
Status : Not Answered
Chosen Option : --
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